APCSA

Examination IV

For this examination, you may use your book, notes, the Internets and other resources but you may not use other individuals. Be sure to answer each question fully and completely using nouns, verbs and –ly words to document your path to solution. Include your Name, Date, Period, and Assignment Name.

	
	MidTerm
1st Quarter
	1st 
Quarter
	MidTerm
2nd Quarter
	2nd
Quarter

	Overarching Process
	3
	4
	2
	

	7 Systemic Parts of APCSA
	2
	3
	1
	

	Your Ability to Test
	2
	2
	4
	

	Science Fair
	1
	4
	3
	

	Growth
	3
	2
	4
	

	Free Choice
	2
	4
	3
	

	Journal
	0
	2
	3
	

	
	
	
	
	


 1. Sally wants a C in this class for the fall semester. Determine a plan for her to get this grade. Recall that Sally is a low rider.
2. Referencing the code fro questions 34-35 on AP Questions VI:
a) What is Point?

b) List the Primitive Data Types used.

c) What is Circle?

3. Complete the Truth Table to verify this relationship.


!(!A && B) = A || !B

4. What method must you use to compare the contents of objects?

5. What data type has two values: true and false?
6. What law shows how to simplify expressions in which the not operator is applied to terms joined by the && or || operators?
7. What reference indicates that a string variable refers to no string at all?
8. In Java, the ambiguous else is also called the ____________________ else.

9. The && and || operators in Java are computed using ____ evaluation.

a) short

b) syntax

c) lazy

d) reverse

10. Which of the following conditions would compile without error (assume the ... are replaced by valid statements)?

a) if (x == 1 || 2) ...

b) if (x = 1 || x= 2) ...

c) if (x == 1 || x == 2) ...

d) if (x = 1 || 2) ...

11. A(n) ____ method returns a boolean value.

A) predicate

B complex

C) abstract

D) equals

12. If string1.compareTo(string2) ____________________, then string1 and string2 are equal.

a) == 0

b) != 0

c) == true

d) != null

13. What things are wrong with this bit of code?

	public class EarthquakeTester

{  

   public static void main(String[] args)

   {  

      Scanner in = new Scanner(System.in);

      System.out.print("Enter a magnitude on the Richter scale: ");

      double magnitude = innextDouble();

      Earthquake quake = new Earthquake(magnitude);

      System.out.println(quakegetDescription());

   }

}


14. What things are wrong with this bit of code?
	public Earthquake(double magnitude)

   {  

      richter = magnitude;

   }

   public String getDescription()

   {

      String r;

      if (richter >= 8)

         r = "Most structures fall";

      else if (richter >= 7)

         r = "Many buildings destroyed";

      else if (richter >= 6)

         r = "Many buildings considerably damaged, some collapse";

      else if (richter >= 4.5)

         r = "Damage to poorly constructed buildings";

      else if (richter >= 3.5)

         r = "Felt by many people, no destruction";

      else if (richter >= 0.0)

         r = "Generally not felt by people";

      return r;

   }


15. Which of the following codes will compile without error?

a) int balance = (int) 100;

b) int dollars = 100;

    double balance = dollars;

c) double balance = 13.75;

    int dollars = balance;

d) (int) balance = 13.75

16. What is the primitive type that is a single-precision floating-point type with a size of four bytes?

17. How can you round a floating-point number to the nearest integer?

18. Which operator computes the remainder of a division?
19. What is the binary equivalent of 1000 (decimal)?
20. What is the decimal equivalent of 1101002?

21. Convert 32111 to base 4.

22. What is this trying to say?
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23. Which of the following statements is legal in Java?

a) if ((d = b * b - 4 * a * c) >= 0) r = Math.sqrt(d));

b) if ((d = b * b - 4 * a * c) >= 0 r = Math.sqrt(d));

c) if (d = b * b - 4 * a * c) >= 0) r = Math.sqrt(d));

d) if ((d = b * b - 4 * a * c) >= 0) r = Math.sqrt(d);

24. Who is Kierkegaard and what does he have to do with APCSA?
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